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2020 South Dakota Hunting Atlas: Bon Homme County
Hard Surface Roads

Graded or Gravel Surface

Minimum Maintenance

Hunter Access Trail

Game Production Areas

Parks and Rec Areas

WIA with habitat that isn't hayed or
grazed in most years

CHAP

CREP

Walk-In Area Corps of Engineers

Waterfowl Production Area

                    Type        Rule ID         Rule

WIA      |         3         |         No hunting in unharvested crops

WIA      |         6         |         Not Open Until Nov. 1

WIA      |         8         |         Driving on harvested fields allowed for waterfowl decoy placement and disabled hunter permit holders


